A

Series
Roll No. (in Figures) TeT 7. (37 ) :

QUESTION BOOKLET
To-feHT

Sr. No.

Roll No. (in Words) U1 5. (F131 H)

g 290

Time : 2 Hours

B gaa

Screening Test

AR 3 : 85
Maximum Marks : 85

PLEASE READ THIS PAGE CAREFULLY.

Note: Candidate should remove the sticker seal and

open this Booklet ONLY after announcement by

centre superintendent and should thereafter check and
ensure that this Booklet contains all the 24 pages and
tally with the same Code No. given at top of first page

& the bottom of each & every page. If you find any

defect, variation, torn or unprinted page, please have it

replaced at once before you start answering.

IMPORTANT INSTRUCTIONS :

1. The Answer sheet of a candidate who does not
write his Roll No., or writes an incorrect Roll No.
on the title page of the Booklet and in the space
provided on the Answer sheet will neither be
evaluated nor his result declared.

2. The paper contains 170 questions.

3. Attempt all questions as there will be no Negative
Marking.

4. The questions are of objective type. Here is an
example. Question : 8 Taj Mahal was built by
(A) Sher Shah (B) Aurangzeb
(C) Akbar (D) Shah Jahan
The correct answer of this question is Shah Jahan.
You will therefore darken the circle with ink pen
below column (D) as shown below :

A B C D
Q.8

OOO0OCe

5. Each question has only one correct answer. If you
give more than one answer, it will be considered
wrong and it will not be evaluated. Changing,
cutting, overwriting and erasing of an answer
will be treated as wrong answer.

6. The space for rough work wherever provided may
be utilized by the candidate. You are not to use any
portion of the Answer Sheet for rough work.

7. Do not mutilate this booklet in any manner. Serious
damage/mutilation may entail disqualification.

8. Do not leave your seat until the Answer Sheets have
been collected at the close of the examination.

9. Candidate will not leave the examination room till
stipulated time is over and only after he has
handed over the Answer Sheet to the staff on

FUAT 3H IS & ATIEE ¢ |

AN : TN heeT b HATeIsh FRT =60 U & WY Tiet

72T Y T FETehT i Tiet 1Y S &Y o 3R GiAreed e of

T 3o 24 U € 31X it et & e 53 T3 e TR et

TS R T S 53 T8 e TR & e of | afg g Jewd

T W I W Tee T 38 T/ of |

Wﬂ;ﬁﬁ%ﬂ:

1. ST el 31O e o T U Ue ST e § Hfse
T UX 39T IS . T&T [T a1 Tetd ferd T S9! 3T
QRETshT i F T ST Bt ST 311X 7 &Y ShT UietT g
Hifere femar ST |

2. T qEH A 170 9§ |

T U &l Y T ThRIcH 3iehT Tl &N |

4. v 3T TWhH ¢ | 3T & AR W
T ; § TATST Heel S 0T J T AT |
(A) TRME (B) =E
(C) 3The (D) SM&sTet
T U9 T el 3T & IMEsTel | Tqierd 319 3T YRqel &
HICTH (D) % e U9 8 % e+ {52 T3 Wiett g i e

w

et U | P R 3, i T i g g
A B C D
Q8 O O O @

5. U U9 1 heel Uh el ST T | IS 319 Ush F 31fereh
SR W, Al Tg TTold TH ST 3T SHehl Goaish Tel
foparT ST |
(F&eH, T, TERT foae a1 fem 9 S &t o
AT SART)

6. STeT FEl o STTE 31 TS & 36 & I B h o7 WA AL |
MU 3T IRARN & Tl off 91T 1 T % & ot
TN & HATE |

7. fordt off T | qRersht ol T T HY | TR T F T/
TS YRR o SHROT STTUEhT STAT e kel ST e € |

8. 3T TIH & q9 Th 7 DS ST9 T STR-YIETHT I W&
AT B T 3T Tel Y fordl S |

9. WA T Toh URIET Eict 81 SIS AT S16 81 ST e
T o TRIRT A TEI e &1 S 7R 9 ST 3T-
qfeTehT TRIET H T T R TR S ST |

duty.

Code No. : [{ @ B RY /2018/Series-A



Space For Rough Work / Fed B F [T ==

Code No. : C-483/2018/Series-A 2



QUESTION BOOKLET
This question paper contains 170 questions. /$F I T H 170 TH & |
All questions are compulsory. / T I3 31f4ard & |
One question carries half mark only. / T I4 o T Shaet 3TTe 376 2 |

Maximum Marks : 85 JAferham 37 : 85
Time : 2 Hours Uy : 2 "o
1.  The primary goal of a computer system is to turn data into

(A) ideas (B) suggestions (C) information (D) reports

Teh HPRT U 1 ST W& SIeT ol H SeeHT BT & |

(A) feam (B) germai (C) SR (D) fereror (faaid)
2.  In which generation of computers did multiprogramming start ?

(A) First generation (B) Second generation

(C) Third generation (D) Fourth generation

R h! Tohd dIE T Wed! - <l I[EaTTd 53 ot ?
(A) yeEddE  B) fgfaddd (©) gdadidd (D) wgdfdH
3. Which is the smallest of the following computers ?

(A) Laptop (B) Notebook (C) Desktop (D) Workstation
T Pt U Ied Biel i |18 7

(A) U (B) Aieg® (C) S&=hera (D) Th-TIH

4.  Generally which button of the mouse is used for OK ?

(A) Lefi (B) Right (C) Middle (D) Wheel
TIT=IGR T ATSHE 1 i |1 5 OK 3 folt e gran g 2
(A) T (B) <™l (C) A H (D) =

5. Which device can understand difference between data and programs ?
(A) Input device (B) Output device (C) Memory (D) Microprocessor
I 91 3UR0T (TEaTSsT) 1T qem WU o HET We Ug= Hehdl & 7
(A) e feasst (B) 3mseye fearss (C) a9 (D) HTSSHITHER
6.  Which of the following is a part of the system unit ?
(A) floppy disk (B) Monitor (C) CD-ROM (D) CPU
= o @ & a1 fawen Ffe (someht sE) 1 fewmn B 7
(A) T fgws  (B) HifHeR (C) #&t-tm (D) #.¥i.3,

7.  An electronic path that connect one part of computer to another is
(A) Logic gate (B) Serial port (C) Modem (D) Bus

Teh e 1 S H % U T bl 31 el @ Srean @
(A) difss e (B) #Hf@@r e (C) uieH (D) &9
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10.

11.

12.

13.

14.

15.

16.

Which of the following computer languages is appropriate for commercial
purpose ?

(A) Pascal (B) Cobol (C) Basic (D) Fortran
FioTTS¥eh 7q o fOTC 1 T | 1 ©f hPefel |9 30T & ?

(A) UT=EHA (B) =iEA (C) s (D) BRgH

The smallest unit of computer memory is called

(A) Byte (B) Bit (C) Megabyte (D) None of these
HII B i T BT IHTE 7 - 0

(A) wTge (B) fee (C) wmaTEe (D) T8 T IS &
A compiler translates a program written in a high level language into

(A) machine language (B) an algorithm

(C) adebugged program (D) None of these

HTITEER Ueh I TR shl WTST | ford 71T Ush T =1 ITFATE AT 2 |
(A) #efeft oo s (B) Th U H

(C) Tsh e T # (D) 78§ IS T&

In MS-DOS, the command that is used to clear the screen is

(A) CIS $) Clear (C) Clear screen (D) Wipe
MS-DOS H, ThiH =l TR i o foTT T HATS & :

(A) CIS (B) wARR (C) FIRRBHA (D) 9189

When more co :ﬂg uters are connected at one place, it is called

STel Ush T T 371Yeh HPER IS §U &, I I8 Haaldl & :

(A) LAN (B) WAN (C) WON (D) DON

The most important or powerful computer in a typical network is

(A) Network station (B) Network client

(C) Network server (D) None of these

s fafire (Sfee) Aeaeh 1 STt veay mwmﬁssnﬁw% :
(A) eTH WIH (B) "k de (C) "eash @k (D) IH U hIE A8l

An alternate name for the completely interconnected network topology is

(A) Mesh QB) Star (C) Tree (D) Ring

YUl €Y H AT Aedeh erarette < foTt 311 1 8 - 0

(A) B (B) ¥ ©) & (D) far

A word in a web page, that when clicked, opens another document is
anchor EéB) URL (C) hyperlink (D% reference

%@ﬁ o ISl H Ueh S, ol fefeh i U 31 SR GerdT 8, 8 ¢

(A) Tt (B) URL (C) gEWf® (D) "

When you cut or copy information, it gets place in the

(A) Clipart (B) Clipboard (C) Internet (D) Motherboard

I 39 SRR Bl ‘e AT gl 2, 1 I8 TI I hidl &
(A) faeasmd (B) faeuae (C) 3<we (D) WHetETS
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17.

18.

19.

20.

21.

22,

23.

24.

Which type of file is created by word processing programs ?
(A) Database file (B) Storage file

(C) Worksheet file (D) Document file
IE TETET T gRy fehd yehr St wiget ffia Bt 2 7

(A) SEEA BEA (B) WRABEA (C) ThIfe BEA (D) SiagH BIgd
Which of the following device used ‘set of beads’ to represent the unit of data ?
(A) ENIAC (B) EDVAC  (C) Abacus (D) MARK-1

1 o O 9 91 3UHT ST T ZHTE hl T B & I Sfigd o T T 3T
HATR?

(A) ENIAC (B) EDVAC  (C) U&%#| (D) HTh-1
‘Expert system’ is the characteristic of which generation of computer ?
(A) First generation (B) Second generation

(C) Third generation (D) Fifth generation

“TaETd fireen’ forg et o hrege shi neaforehar B 7

(A) semdid  (B) Bfmdd (O qhEdd (D) v

The flow and timing of data to and from the microprocessor is regulated by
(A) Control pins (B) Address pins (C) Datapins (D) Power pins
HTEShITIET & B2l o 3T - 1 T8 TUT T o g A g & |
(A) ®wgefE  (B) wgEfml  (C) ererfo (D) 7R fot

Which of the following is an example of an input device ?

(A) Monitor (B) Scanner (C) Printer (D) Speaker

=1 1 @ &F 91 T e fSaTsst i e g ?

(A) Hie (B) T (C) i (D) &Rt

Which of the following devices produce the best quality graphics reproduction ?
(A) Laser printer (B) Inkjet printer (C) Plotter (D) Dot matrix printer

fT T 9 ShI9 |1 IUhAuT I Shife it wnfther wfdfery Sca= (frmior) shear 82

(A) TSR (B) $he Bt (C) WX (D) sfe #fgem fi=e
Which port can also used to connect two computers to transmit files ?

(A) Serial port (B) Parallel port (C) AGP port (D) Firewire port
BT ITUT o6 foTT & SHrRfedl ol SHie- o foTu 39 UId ohi ot S&TeT &1 Tehal & -

(A) Hifmadd  (B) Waa@dd  (C) AGPUE (D) BRR-IRFR UL
What is the main folder on a storage device called ?

(A) Platform (B) Interface (C) Root directory (D) Device driver
RS fEaTsd o q&T Blest ! H1 Had 8 7

(A) wIEHH (B) THH (C) ®efewedt (D) feamsa g
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25.  Which of the following memories has the shortest access time ?

(A) RAM (B) ROM

(C) Cache memory (D) Magnetic core memory

1 4 9 9 ) 990 1 TeHY 2IEH 999 DI BT 8 ?

(A) RAM (B) ROM (C) Fuaa (D) #Wfesh ®R AR
26. Which of the following is a binary number ?

e d g sH d s g g ?

(A) 36 (B) 10 (C) 45 (D) 29
27. Floating point representation is used to store

(A) Boolean values (B) Real integers

(C) Whole numbers (D) All of these

FIT TUTEd S & foTT Tl w@rde fugies™ yer g1 & 7
(A) I HE  (B) dT&ilae quTieh (C) qUTieh (D) ug &t

28. Software is generally classified into, which type of software ?

(A) System software (B) Utility software
(C) Application software (D) ‘All of these
ATHTIAAT HIF Rl TR Teh o AL H aiffehd fohaT ST & ?
(A) Toren ieeeRr (B) Ifeferdt wies—
(C) TATohM HitearaT (D) s@af
29. Which of the following is/are called low level language(s) ?
(A) Machine language (B) Assembly language
(C) Both (A) and (B) (D) None of these
fafafaad a s @ fm A vy e/2 ¢
(A) TR aTST (B) THTEEA AT
(C) (A) T (B) < (D) & & lg Tl
30. A translator is best described as
(A) an application software (B) a system software
(C) ahardware component (D) None of these
Teh 3TATEH (ZMIE) hl 8 TR UK $Heh €9 § ST 11 Tehell § :
(A) T TAThIM HFE (B) Ush foreen wigeaen
(C) T EIEII IS (D) T 9 IS &
31. Proprietary software is owned exclusively by
(A) asingle company (B) sharing mode
(C) asingle user and freely (D) None of these
AT W 3= W1 Bl 8
(A) Tsh Tehed Ul (B) HTGRI AT I
(C) T & Y TH 5 Al (D) ¥ & S Tal

Code No. : C-483/2018/Series-A 6



32.

33.

34.

3S.

36.

37.

38.

What is the name given to the process of initializing a micro-computer with its
operating system ?

(A) Cold booting (B) Booting

(C) Warm bootin (D) None of these

Th %I$9h\l—°hl-ui\d{ 3Eeh! IR JUTTeT! o |1 I[& bt ohl TTsha ahl 30T = fe
T Y

(A) ®ree e (B) e (C) amgEt (D) T U T
The program in the operating system that does processor management is called
(A) Traffic controller (B) Dispatcher

(C) Processor scheduler (D) J ob scheduler

TR JuTTett § 9 ST S St JS4H 1 13 hidl &, hactTdl %

(A) 2iftheh Haler (B) fe@=r (C) e fgger(D) e fagger

Which of the following is not the type of real time operating system ?

(A) Hard real time operating system

(B) Soft real time operating system

(C) Complex real time operating system

(D) None of these

1 T 9 S 1 aTforeh U Uit JUTTet! 3l TR &) & ?

(A) i aTEaleeh U TiETeH JoTelt (B) HXc araidsh S8 IiETer JoTett

(C) wifeet arcfass Tua aiETer YoTeft (D) 378 & IS &

Which type of commands in MS-DOS needs additional files for their
execution ?

(A) Internal commands (B) External commands

(C) Batch commands (D) None of these

MS-DOS # forH TR o HHTS ! I= HoTfed (hTf=Id) S o oy faics
RIS shl STTETIhHAT U] & 7

(A) ATANeh HUTEH (B) SR HAGE  (C) S ®HAGH (D) I d is T&1
In MS-Word, changing the appearance of a document is called

(A) Proofing (B) Editin (C) Formatting (D) All of these
MS-DOS #, T SlR[HE % %I FCT HEATdl &

(A) T (B) ufefen (C) wfem (D) ¥E&h
Which command 1s used in MS-Excel to calculate the total characters in a cell ?
MS-Excel H Teh Tt H et 318 shl TUHT o6 FoAT shie |1 HHTS TI7H BT 8 7
(A) Len (B) Length (C) Mid (D) Sid
Charts in MS-Excel are constructed with
(A) datapoints (B) dataseries (C) dataelements(D) Both (A) and (B)
MS-Excel # =1ed ffda g1d &
(A) BT AT & |1 (B) ST 2vft o &Y
(C) STl awl & &1 (D) (A) @ (B) =i
7 Code No. : C-483/2018/Series-A




39.

40.

41.

42.

43.

44.

45.

Which PowerPoint feature will you use to apply motion effects to different

objects of a slide ?

(A) Slide transition (B) Slide design

(C) Animation objects (D) Animation scheme

%@Iﬁliif?% farf¥r=T arfeaterel shl WITM THTE ¢ o foTt PowerPoint o i & H=R &1
?

(A) TATEE TIISH (B) 1SS femrgA

(C) THHSH Hlesaed (D) THEIH @hiH
Which of the following is a type of database user ?

(A) Application programmer (B) Database Administrator
(C) End user (D) All of these

71 H | IF |1 SICTed IR 1 Teh ThR & ?

(A) TR TR (B) el TghfgeX
(C) eI (D) e &f

Which of the following is not a type of data model ?

(A) Hierarchical Model (B) Network Model
(C) Relational Model (D) Abstract Model

f= | ShI9 | ST HiSe 1 Ueh bR 21 & 7

(A) FTH{Uh e (B) Sl Alsed  (C) Talreh Afgad (D) 30d digd

Microsoft Access is an example of

(A) Computer (B) CPU (C) Device (D) None of these
T fehIeRT Weh 3eTELUl

(A) PR (B) CPU (C) feamest (D) T 8 IS Tel

In MS-Access, Text data type may contain maximum character of

(A) 255 character (B) 256 character

(C) 1064 character (D) _No limit

MS-Access H SHZ 12T 2189 H HeTH 78R &l Hehd

(A) 255 (B) 256 (C) 1064 (D) IS HuT Tl & |

A central computer surrounded by one or more satellite computers is called
(A) Busnetwork (B) Ring network (C) Star network (D) All of these

Teh U (hr5i) HPRE S Teh 1 3ATeeh Teetse HE § el 311 81T ©, haeldl &
(A) §HaeEs  (B) fordees (C) WRAeas (D) I8 @ofi

A machine that connects two or more electronic mail systems and transfers
messages between them is called

(A) Bridges (B) Useragent (C) Mail gateway (D) None of these
Teh H3fiF ST g1 31 3Tereh Toreld Wl JuTfori <l SISl & qi 3ok HE HeFil bl Y501

! 8, hedTdl &

(A) 3= (B) FMTE  (C) HA-Ted (D) TH WIS A&l
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46.

47.

48.

49.

50.

S1.

S52.

S3.

In OSI Model, which of the following layers decide the path of data ?

(A) Physi(;al ~(B) Application (C) Network (D) None of these
OS] #igd # =1 H ¥ IH T TR SeT-99 a9 HdT 8 7

(A) wifas (B) T=ehM  (C) (D) T8 | I3 Tai
A website is a collection of

(A)_programs  (B) graphics (C) algorithms (D) None of these
Teh dadT3e fohdeht GURU 3 7

(A) JmmisH  (B) WeeEi®w  (C) TeNeAish (D) IH 9 is &l
Which of the following is not a part of E-mail address ?

(A) Username (B) Domain name (C) Protocol (D) All of these
e o & 6 a1 39 vgw o femm i R

(A) 5™ (B) sWa-m (C) Wierehict (D) ug &t
Which of the following is used to write web pages ?

I U §9 o foTu fengent 3T g1 @ ?

(A) URL (B) HTML (C) HTTP (D) FTP

Software programs that close potential security breaches in an operating
systems are known as

(A) Security patches (B) Security repairs

(C) refresh patche§ (D) None of these

Teh TTETer JUTTet! | 98 ATeea ST 1 hadld &, Sl SrdTel GReqT ST(qshavT i
FCHA 27

(A) Tt Tt (B) faerpfidt frorst

(C) Toka ¥== (D) T ¥ I T

A virus that can delete antivirus software is called a

(A) consortium (B) vaccine (C) retrovirus (D) None of these

Teh IR ST U -IRAH HTHR ol Siefie Tl Tehdl &, HaATdl &
(A) ®iEIféIm  (B) dfFH (C) WErmE (D) T § s 78l
Encapsulation is also known as

(A) Information hiding (B) Data abstraction
(C) Data management (D) None of these

AT 3T HI STHT ST &
(A) IHHH GIAT(B) TRIAGE  (C) SRIVEEA (D) 0 U I8 Tl
Which of the following sites has the most impressive drainage system ?

(A) Mohenjodaro (B) Dholavira (C) Banawali (D) Harappa
= 1 9 form T (H182) W T8 UTERITed! STl - ey sgere Irs S | ¢

(A) WETSeel  (B) e (C) st (D) &SI
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54. The first and most important event of Ashoka’s reign recorded in his
inscriptions was
(A) his conversion to Buddhism (B) Kalinga War

(C) concept of Dhamma (D) his attammg the throne
% TG § U qUT T8 Hgeaqul 21 St 39 Rretrer@t # 3ifehd &, off -
(A) 3T Sig g ISR (B) i &1 g5
(C) & shi AaYRoN (D) 3HHI TATHNH
55. Pliny was a
(A) Roman writer (B) Greek writer
(C) Parthian writer (D) Chinese writer
it &, Th

(A) T e@® (B) IMHIoEs (C) WA @ (D) <l o

56. In central India, the Kushan rule was followed immediately by
(A) Murundas (B) Kanvas ©) Satavahanas (D) Guptas
HE YRA H, YT ST o1 qLd T9aTd ST Tohdeh gRT Toham =11 ?

(A) g{z—qﬁ‘g’m (B) ®WEgW  (C) H@amedigll (D) T« gi
57. Which is one of the earliest residential-cum-teaching institution ?

(A) Nalanda (B) Vikramashila (C) Taxila (D) Kanchi

71 0 9 I 91 ga QU e -Hg -1 fures TEe o1 2

(A) AT (B) faspmferem  (C) qafren (D) r=
58. Who founded the Pala empire ?

(A) Ruhma (B) Dhruva (C) Dharamapala(D) Gopala

UTeT TTHTS <hT TATIeh ShiF AT ?
(A) ®&Hl (B) 94 (C) amuT (D) T
59. Who was the court poet of King Mahipala of Kannauj ?
(Az Kalhana X (B) Bana (C) Ravikirti (D) Rajsekhara
ehallSl oh TSTT H& 9T o TST—ohidl shid & ?
(A) Hegu (B) €M (C) Teehifd (D) TSIER

60. Who constituted a council known as ‘Umara-i-Chahalgani’ ?
(A) Balban (B) Iltutmish (C) Sikandar Lodi (D) Aram Shah
FR-T-TEATH] TTHeh YHNe ol AT fomde i off 7

(A) S (B) Iegatm  (C) fasht@dt (D) Mg

61. Al-Beruni came to India in

(A) 9% century AD (B) 10% century AD
(C) 11™ century AD (D) 12% century AD
FA-ToA1 WA hel JTAT AT?

(A) et grefred} (3&i) (B) e T (3h)
(C) ™IrEd yraredt (3Ef) (D) et yrareet ($e)
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62.

63.

64.

65.

66.

67.

The Chola empire came to be extinguished finally with the invasion of

(A) Alauddin Khalji (B) Muhammad bin Tughlaq
(C) Balban ) Firoz Shah Tughlaq
fehrch STTSRTOT <h VT TTcT HTHTSE T a%umﬁw (3T|) BT 7
(A) ITCASEN oSl (B) HgHHG-TeH-TTeteh

(C) sctsd (D) ieﬁfl\_rl?%ll% qicish

What lead to the Maratha empire becoming a confederacy of feudal chiefs ?

(A) The rise of the Peshwas

(B) Sambhaji’s weaknesses

(C) Ambitions of the old Sardars like Angrias and Bhonsles
(D) None of these

ferEreh AT HXTST TTHTSY Ueh HTH GREATAT ol TsIEd TYI &1 ?
(A) USTETS 1 3T

(B) \YTSH ot hu=iit

(C) AT YT Hidel S8 U TERT <hl TETehIay

(D) ¥ & F T

Who was the first secular ruler of the Afghan clan ?
(A) Chengiz Khan (B) Balban
(C) Sher Shah (D) Abul Shah

JTHITH 3T ohT TUH G T-TUET TTEeh hid AT 7
(A) FNEH  (B) efsd (C) 3R (D) gt =mE

The Dual system of government was abolished by

(A) Lord Canning (B) Warren Hastings
(C) Lord Rippon (D) Lord Lytton

SH - TTH TUTTe! <1 3t fohalt T/ o ’

(A) TS Hf g (B) ¥ i@ g
(C) oig T g (D) g foTea gm
Which militant nationalist killed the ‘Rand’ ?

(A) Damodar Chapikar (B) Barindra Kumar Ghosh
(C) Jatindranath Banerjee (D) Prafulla Chaki
fere Tgae) fuel 3 T ki hew TR e

(A) THEIET AT (B) wfig HAR AW
(C) ST Sl (D) Tedt =ATeh!

Which of the following leaders was not involved with the emergence of Trade

Union Movements ?

(A) Lala Lajpat Rai (B) B.P. Wadia
%‘t’ M.A. Jinnah (D) N.M. Joshi
H E M 1 a1 HiHeh G SATGIeH! o IgHd H IS a1 AT 7
(A) ATAT ATSIA T (B) .4t arfgan
(C) .. f5an (D) wA.um. Ssh
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68.

69.

70.

71.

72.

73.

74.

75.

Faulting owes its origin to

(A) tensional forces (B) compressional forces
(C) convergent forces (D) All of these

WY 3gufad BT 3

(A) T o B AR Y (B) Tdted 5/t Y 3T F
(C) v 5/t <1 3R E (D) ug &l

The origin of earth dates back to

(A) 3.6 billion years (B) 4.6 billion years

(C) 5.6 billion years (D) 6.6 billion years
9&f] o1 3T HHT T & 3T 8 T&

(A) 3.6FUsaY (B) 4.6Hisa¥ (C) 5.6Fsa¥ (D) 6.6 HUs a8

Monsson winds fall in the category of

(A) planetary winds (B) local winds
(C) periodic winds_ (D) None of these
T g fomm ot 3Tt B 7

(A) Y-Tsei e (B) & T (C) H@Edided (D) $H U I3 Tl

Which of the following is not a form of precipitation ?

(A) Snow (B) Dew (C) Sleet (D) Hail

= 1 9 1 91 U 96T (UTd9) 1 Uk YRR Tl 8 ?

(A) ¥ (Ih)  (B) TL(3) () e (feliasi)(D) &t (371e)

The position of the sun, the moon and the earth in a straight line is called
(A) syzygy (B) quadrature (C) opposition (D) None of these
T, <5 a1 geAt i v el @ # ferfa st 7

(A) Fa-sgfafag(B) et (©) g (D) ¥ & 1 7
Which of the following is not a method of Solid Waste Management ?

(A) Incineration (B) Composting (C) Landfill sites (D) None of these
=1 5 9 % € T 319 STl yevH i o Tdi g ¢

(A) wafier  (B) wEIfRT (C) -WUERE (D) 9§ § hiE A8
Which of the following countries consume more fish than any other country in
the world ?

(A) France (B) China (C) Great Britain (D) Japan

T 5 @ forw <o o a1 il o gehrered 3fereh ARt i SuMIT fehar AT 8 7

(A) W (B) == (C) U< fsrem (D) UM

Mixed cultivation is found throughout

(A) Asia (B) Europe (C) Africa (D) Australia
’ EACERCGIRI IR

(A) e (B) I (C) 3Tshieht (D) arefern
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76.

77.

78.

79.

80.

81.

82.

83.

Cheviot Hills are situated in
A) Ireland (B) Iceland (C) England (D) Scotland
%’%@2 PHIESIIEEIES R

(A) sEE s (B) ameled (C) swisd (D) whicdie #
The Shan Massif Plateau is situated in
%:) Thailand (B) Myanmar (C) Indonesia (D) Malaysia

(A) ¥UTstve i (B) MR H (C) WERRRIYE (D) HRRTH

The Mallamalais and Palkonda Hills are situated in

(A) Eastern Ghats (B) Western Ghats

©) Ajanta Range ’ %)) None of these
HC’Q’IIHC’II'.%W“IIC’I‘JI')ISI i

(A) qetg =ret 8§ (B) ufvadt amei &

(C) 3T @t | (D) ¥ ¥ IS &l

Which of the following rivers does not form a rift valley ?

(A) Godavari B) Narmada ©) Taptl (D) None of these

£ B & R T Rryer-ardt o o T2 S 27 .
(A) e (B) THa (C) e (D) T8 ¥ IS &

Winter rainfall in Tamil Nadu is due to

(A) retreating monsoons (B) temperate cyclones

(C) trade Wll’ldS (D) north-south monsoons
TS | fdehTeli a9t &1 HROT 8

(A) YTIH! HHEA (B) Sfrarsor <rshard

(C) =mTies gamd (D) ITR-gfequr wrEd

Red soil is poor in

(A) Phosphorus (B) Nitrogen (C) Lime (D) All of these

AT TeT | fehereh! HTAT A &I @ 7
(A) WEBRE  (B) TSI (C) wmgw (D) &
The state of India with the largest percentage of land area under forest cover is

(A) Madhya Pradesh (B) Arunachal Pradesh
(C) Assam (D) Odisha

- HTeBIE ITeTl T ST Y- &1 (STerd H) STl HRA 1 T3
(A) AL T (B) 3TUTEA 9 (C) 3/H (D) 3nfesm

Which of the following power projects is being constructed on the river

Bhagirathi ?

(A) Dulhasti Project (B) Tehri Dam

%‘t’ Sardar Sarovar Dam (D) All of these
T i Y Srfe afEerT wiieft 7 o fmiomea 2 7

(A) GrEE diErST (B) fegltaty

(C) TER TR §fY (D) I8 |t

13 Code No. : C-483/2018/Series-A



84.

85.

86.

87.

88.

89.

90.

91.

Which of the following is the biggest oil refinery of India ?

(A) Mathura (B) Baraum (C) Koyali (D) Nunmati

e 0 9 9 &) 9 <hl ged 9t 317 w2 e

(A) 9YT (B) s+t (C) et (D) T

Forests of Karnataka Plateau are famous for

(A) Teak (B) Sandal ~ (©) Sal (D) Mahogany

H1Eh TSN & ST 38h 1\?& yftrg 3

(A) | (B) e (C) = (D) werd

Cash crops do not include

(A) Sugarcane  (B) Cotton (C) Jute (D) Wheat
HHel H wftiferd T8 8 .

(A) T (B) wuTE (C) ueEH (D) 7§

In which State the sex-ratio 1s more or less balanced ?

(A) Himachal Pradesh (B) Kerala

(C) Andhra Pradesh (D) Tamil Nadu

fop® T2 H TolTTaTa TRTSHT |ferd & ? ’
(A) TTaEE IR (B) A (C) Mgvyew (D) afeHTg

Which of the following features of the Constitution of India resemble the
American Constitution ?

(A) A written Constitution (B) Single Citizenship

(C) Integrated judiciary (D) Parliamentary form of government
HITHT BT i T 0T STHLIRT HITEH & HHAT Tl 7 7

(A) T farRga afaeam (B) Tshe ATREhT

(C) TehIshd =ATHTIcTeR] (D) TTHR T GHET &Y

Who adopted the Constitution of India on the 26™ November, 1949 ?

(A) People of India (B) Parliament of India

(C) Cabinet (D) None of these

26 FaE, 1949 hl AR Al = TR (3Tfiepr) fomam o

(A) Tt 35 AR (B) R @EEH (C) Wf-usadd (D) I U g &l

Which Article of the Constitution allows the Centre to form new States ?

(A) Article 3 (B) Article 4 (C) Article 5 (D) Article 6
TITET 1 I TT ITTHE hg I T3 TS THIT b1 ITTHT LT & ?

(A) 3g=8e-3 (B) 3g¥e-4 (C) IgRBe-5 (D) L6

Which of the following Presidents of India was also the Secretary General of
Non-Aligned Movement for some period ?

(A) Dr. S. Radhakrlshnan (B) V.V. Giri

%ﬂ; Giani Zail Sin D) Dr. Shankar Dayal Sharma

ﬁﬁw%#%r@ﬁww% Te-fue e o meT-afa W 9 ¢
(A) SI. TE. TUTHVHE (B) aﬁaﬁ firfe
(C) T St fere (D) . YRt garel I
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92.

93.

9.

9s.

96.

Which of the following is not a Parliamentary Committee ?
(A) Committee on Public Accounts

(B) Committee on Public Undertakings

(C) Committee on Estimates

(D) Committee on Demands for Grants Committee

=1 5 9 o vk gedE amfa T 2 7
(A) <eh-orgT |t (B) e IUshy Gfffd
(C) 3ATeher Tifa (D) e win wfifa

The Chief Justice of India can be removed by the
(A) President

(B) Parliament

(C) President on a Resolution by the Parliament
(D) None of these

YA o & AT Sl F=T ST Hehall o

(A) Tgafd g (B) §Eg gl
(C) HHE % T&E W ALITd g (D) 98 | HIg T

Who is responsible for the observance of the Rules of Business of the State
Government in India ?

(A) The Governor

(B) The Chief Minister

(C) The Advocate General

(D) The Chief Secretary of the State Government

YT H T TEHN o HRIhHaTd § THHT o STUTEH o 7T shid ITeri 8 ?

(A) TSI9TA (B) HeIwA
(C) =ET-3ferawht (D) TSI TR o &I A

Which one of the following States has minimum numbers of members in their
legislative assemblies ?

(A) Arunachal Pradesh (B) Sikkim

(C) Goa (D) Tripura

e o form oo o) T 9 0 gl f e ged a2 7

(A) TS 9 (B) fafeen (C) 3T (D) Fgu

Which of the following was an associate State of India before becoming a full
fledged State ?

(A) Mizoram (B) Meghalaya (C) Manipur (D) Sikkim

=1 5 1 o |1 quf U9 o7 | 4 9RA 1 U Hag TS 217

(A) fasti (B) W (C) wfoTgR (D) THfasm
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97.

98.

99.

100.

101.

102.

103.

A proclamation of National Emergency automatically suspends

(A) Right to Freedom (B) Right to Constitutional Remedies
(C) All Fundamental Rights (D) None of these

RERECIEIRCAR IR I %@ T TfTd a1 2 7

(A) TG T ATTHR (B) T IU=TR T 3TfhR

(C) & geryd FAferehm (D) T & &g Ta

Territorial waters of India extends upto how many nautical miles ?

A T HHTATT STAST fohde Fifehet Hiel deh Teremitd & 7

(A) 8 (B) 12 (C) 18 (D) 22
UPSC submits its annual report on its work to

(A) the Union Home Minister (B) the President

(C) the Parliament (D) the Chief Justice of India
UPSC 379+ 1t sht aTfiieh feraoft fererh wmer seqd el & 7

(A) 51 T8 T (B)

(C) dwg I (D) WA % g&F =Ry

Unemployment which occurs when workers move from one job to another job
is known as

(A) seasonal unemployment (B) frictional unemployment

(C) cyclical unemployment (D) technological unemployment
[ h Teh e § 37 SI1d H TEAM o THI 39~ %

(A) HrEH ST (B) uuft ST

(C) <sh ISR (D) dhTh! SUSTIRY

The outlines of Second Five Year Plan was made by

(A) B.N. Gadgil (B) V.K.R.V.Rao

(C) P.C. Mahalanobis D) C.N. Vakil

IR ECLIPRIEEICIRSEC) ?l?ﬂt?mpﬁé oft

(A) st.w. e g (B) ... Ta g

(C) .. mgreifem gr (D) H.TA. Ihic gRI

Who sets up the ‘Base Rate’ for banks ?

(A) RBI (B) Ministry of Finance

%(% Ministry of Commerce (D) Individual Bank’s Board

o ToTq AT g0 H T A1 8 7 .

(A) RBI (B) Tod waTet™

(C) =foTfSaes HoTe™ (D) cdh Sh I Al

The wage policy in India is based on

(A) productivity (B) standard of living

(C) cost of living (D) None of these

W H i ifa s g

(A) IdgHal  (B) Sfed &R (C) faRara (D) 378 O HIs &l

Code No. : C-483/2018/Series-A 16



104.

105S.

106.

107.

108.

109.

110.

111.

Which of the following States has the literacy rate lower than the national
average ?

(A) Karnataka (B) West Bengal

(C) Andhra Pradesh ’ (D) Mabharashtra

TP 3ftEa <t o § fe= O & fopm U shl et L a2 7

(A) Hieh (B) uftaH&mel (C) YUYW (D) HWERIY

Which State in India is estimated to have the largest coal reserves in India ?
(A) Bihar (B) Jharkhand

(C) Madhya Pradesh (D) Odisha

W < Toh Tt 1 Tl 3125k /I 3 ShIAeT HER B o1 HTeheT [T 7T 2 ?
(A) @ (B) IR@S (C) e wem (D) 3fifesm
The percentage of agriculture land is very high in all the following States except
A) Punjab (B) Haryana (C) Uttar Pradesh(D) Sikkim
R it Tt 3 R A o SR A 9 2, v
(A) oS (B) sf@mm (C) Smyew (D) fafewm
Which of the following is not a part of India’s Money Market ?

(A) Bill Markets (B) Banks

(C) Mutual Fund (D) Indian Gold Council
(71 3 § I |1 ATA o 51 ST9R 1 T (G 781 @ 7

(A) Toet Arhe@ (B) ¥ .

(C) W3 ®S (D) iU Ties Hifda

In India, the NABARD does not provide refinance to
(A) Scheduled Commercial Banks (B) Regional Rural Banks
(C) State Land Development Banks (D) Export-Import Bank

R B A1aTE 9:for fopet W 78 et 8 7

(A) 3T arfvTfses s i (B) &fiT mfiur S

(C) Ta y-Toshra o =l (D) T=fa-3mama d&

The largest item of expenditure in the current account of the Central
Government budget is

(A) Defence Expenditure (B) Interest Payments
(C) Subsidies (D) Expenditure on social services
hT LR oh So1C <h Te] WA H ¥ ohl 9a9 TSI A4S &
(A) gr= (B) =< YA
(C) 9iEH (D) | JGT3TT W2
Special Economic Zone Act became effective in
fafere onfofe & stfafrem ey gen
(A) 2004 (B) 2005 (C) 2006 (D) 2007
Gravitational forces are
(A) the weakest force in nature (B) the strongest force in nature
(C) negligible in nature (D) None of these

S B & -
(A) Tehid H o™ HASIR 5 (B) Wh{d H He® Hied 9
(C) wepfet H 107 5 (D) S | g e

17 Code No. : C-483/2018/Series-A



112.

113.

114.

115.

116.

117.

118.

119.

120.

Thermal radiations are

(A) Mechanical waves (B) Magnetic waves
(C) Electromagnetic waves (D) None of these
(A) BT (B) dsrhia i

(C) fora-gah o (D) 30 | hIg &I

A D.C. device which generates very high voltage is

(A) Transformer

(B) Rectifier

(C) D.C. Generator (D) Induction coil
Teh 1. 8. IUhTUT ST 3Afd 3= Aleet Uel hidl &

(A) TEHIE

(B) Fwrr  (C) S.#H. I3 (D) sewH HEaA

Which is most elastic ?

%n:’ Wet clay

(A) m‘tﬁm

(B) Glass (C) Rubber (D) Steel

(B) Tl (C) s (D) F¥Td

A pH of 7 signifies

(A) Pure water

(B) Neutral solution

(C) _Acidic solution (D) Basic solution

pH ¥ 7 =1 3/
(A) a5

GRS

(B) 3¢ faerm (C) 3wt faerm (D) e faerem

Which one of the following compounds is insoluble in water ?

(B) Cellulose %C) Maltose (D) Cellobiose

%r:)’ Fructose
o S 91 A It | ST

(A) IS

(B) el (C) HTears! (D) AR

Penicillin was discovered by

(A) Waksman

(B) Pasteur

(C) Alexander Fleming (D) Ronald Ross
U o wEe o
(A) SToEH (B) U
(C) TSt FATHT (D) TS U
Fats in human body are stored in
(A) Liver (B) Pancreas (C) Kidney (D) Adipose tissue
e IR H =t wed g @
(A) IHaH (B) 3f=mEH (C) JFhH (D) &1 Hdsh H
The disease ‘Thrombosis’ is associated with
(A) Heart (B) %Eyes (C) Blood (D) Lungs
” gafed
(A) BT (B) @i | (C) wad (D) %% A

Citrus fruits are rich sources of

(A) Vitamin A

(B) Potassium (C) Iron (D) Vitamin C

e well O S 9T BT 3

A) faefim-t

(B) diefsmm (C) A (D) foerftm-=h

Code No. : C-483/2018/Series-A 18



121.

122.

123.

124.

125.

126.

127.

128.

The 2018 Vishwa Shanti Ahimsa Sammelan (VSAS) has organised recently in
which State ?

(A) Maharashtra (B) Uttar Pradesh (C) Gujarat (D) Assam

gl gt 1 fohm TS © forea mifr 3afeen ae (VSAS) 2018 ST=ifed 31 ?

(A) HEWY (B) IWY®  (C) T (D) 3™

Which of the following banks has recently become the India’s first PSU bank
to introduce comprehensive wealth business services for its clients ?

(A) SBI (B) PNB

(C) Bank of Baroda ] (D) Dena Bank .

BT &1 H, T 1§ I € ek 9Rd shl Hewym PSU S 1, ST 319 TT8ehi o foIg
S8 UGl SHaE HaTl giETed H ARl 7 .

(A) SBI (B) PNB (C) % 3iT6 ST (D) &1 &

The famous Shahi Litchi of which State has recently got the Geographical
Indication (GI) tag ?

(A) Uttar Pradesh (B) Uttarakhand (C) Biha\lr (D) Manipur

Smgf T, forg T=a <t gfag el <fi= o1 fSetumdieee sfeese (GI) & ure
B3R 7

(A) SH¥E  (B) SwWEre  (C) foER (D) Hfog

Which of the following States is set to become the India’s first smoke free State ?
(A) Karngtaka (B) Kerala (C) Tamil Nadu (D) Andhra Pradesh
o1 T W I T TS WA T T YT I T S S @?

(A) HeH (B) & (C) dftemtg (D) YT

Which State has recently celebrated the Kati Bihu Festival 2018 ?

(A) M@&halaya (B)  Assam (C) West Bengal (D) Jharkhand

g1l €1 1 Tehd U 1 o] forg @ign-2018 wAmem 7

(A) TETe™ (B) 3&m (C) dWfrad & (D) SR@US

Who has won the 2018 Man Booker Prize for Fiction ?

(A) Anna Burns (B) Val McDermid
(C) Leo Robson (D) Leanne Shapton

FHATE o 7T fohdl AT T TEHR-2018 T §3TT 7

(A) FNsE  (B) ddfksfifs (C) fasfitemm (D) foro Arefq
Which country has successfully tested world’s largest unmanned transport
drone “FH-98” recently ?

(A) German (B) Ching (C)(\ Japan (D) Indonesia
Wﬁfﬁ%&r%mﬁﬁww qed 981 AHaLEd N §F ‘FH-98° ol T%hal Tl
fopaT ?

(A) (B) = (C) <M (D) 3UERRREN

Which Indian personality has recently conferred with the Civilian Honour of
Mexico ?

(A) Ratan Tata (B) Mukesh Ambani
(©) A%it Doval (D) Raghupati §inghania
BTo1 &1 H Tohll YT S fched o Hferdeh! TG THAT ST fohaT ?

(A) @A 2RI (B) bW &Mt (C) i s (D) Tedfd e
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129.

130.

131.

132.

133.

134.

135.

136.

Which Indian personality has recently appointed goodwill ambassador for
Nepal tourism ?

(A) Jaya Prada (B) Akshay Kumar

(C) Naseeruddin Shah (D) Raveena Tandon

BT &1 H fohe R SATehcdl ol ~uTel TieA o fTT wewTal Teigd eh foram T @ 7

(A) ST 9ET (B) ITAFAR (C) TEeeq Mg (D) eHrded
Who has been named ‘The 2018 Best FIFA Men’s player’ ?

(A) Lionel Messi (B) Luka Modric

(C) Cristiano Ronaldo (D) Mohamed Salah

918 FIFA (hiwT) 789 Raerret-2018 fopa =ifva fepam mam g 7

(A) TastHa nedt (B) e Hifgeh

(C) TohEaml TATeel (D) HigHS |Ioi8

Which of the following letters is 14™ to the right of 6! letter from the left in the
English alphabet ?_ . . ‘

IS Ut B 91 8 B3 378 <ht grRff 3T 1 14491 318 e § 9 A @1 g e
(A) R (B) P € W D) T

In a coding system, ‘APPLE’ is represented as ‘ZKKOV’. In such system,
‘COW’ will be represented as

T hite fa&en 1, ‘APPLE’ 1 “ZKKOV’ SR 1 2 | 341 faen 1, ‘COW” i
Y T ST ?

(A) XLD (B) XMD (C) WLE (D) WDL

If BAG =71, then VICE = ?

If¢ BAG = 71, VICE =?

(A) 69 (B) 70 ©) 75 (D) 90

In dictionary, which word comes fourth in arrangement ?

IeghI H, AN i W = § | &9 91 316g T ST 2

(A) Propense (B) Prophet (C) Propine (D) Prong

Q’s mother is the sister of P and daughter of M. S is the daughter of P and sister
of T. How is M related to T ?

(A) Grandmother (B) Father
(C) Grandfather or Grandmother (D) None of these

QHRAPH THAGAAIMBI TR IS, PH EHeaNM TH Ig18 IMBITH
ERIR R

(A) @ (B) o (C) TanTE (D) T 8 IS T

How many times in a day, do the hands of a clock coincide with each other ?
T fef | feherft S Teh o1t <6l gt Toh A &ieft € 2

(A) 12 (B) 24 (C) 22 (D) 44
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138.

139.

140.

141.

142.

143.

144.

145.

A person’s present age is two-fifth of the age of his mother. After 8 year, he
will be one-half of the age of his mother. How old is the mother at present ?
(A) 32 years (B) 36 years (C) 40 years (D) 48 years

Teh RAfh l TdUH 311g IHh AT h1 3T i 2/5% | § a¥ dIg, IWeh! Y U
HTAT <ht AT % 1> B ST | SdH J 3Tt J1aT shi 317 fohert 8 2

(A) 3299 (B) 3699 (C) 40=d (D) 48 =d

The sum of all the 3-digit numbers which are formed by the digits 1, 2 and 3
without repetition of digits is

3Teh! <hl TGN o T 1, 2 T 3 37hi § S ATl 3-3Tehi Sl AT T 1AM BT

(A) 1233 (B) 1321 (C) 1323 (D) 1332

The old name of ‘Nalagarh’ was

(A) Hindur (B) Nagarkot (C) Suket (D) None of these
TRIITE” ohT JXT AT AT ’

(A) feg (B) TRHE  (C) Hehd (D) T & =Ig el

Guru Govind Singh was invited by the ruler of which princely State to fight the
Mughals ?
(A) Bushehar (B) Hindur (C) Sirmaur (D) Suket

A § g T o (AT Ford TSTE T2 o TS A & TMfefes sl A fexm o ?
(A) TR (B) fegt () TR (D) el

H.P. became Union Territory in the year

Tenmaet vew ford I Shegeniéd Tewr &7 2

(A) 1948 (B) 1951 (C) 1954 (D) 1956
‘Kunzum’ pass is located in which district of H.P. ?
(A) Kullu (B) Lahaul and Spiti
(C) Chamba (D) Kangra
femmere siew < fobwr foret o g o1l srafeora & 2
(A) (B) wreia-ferfa (C) = (D) TSI
‘Baspa’ is an important tributary of the river
(A) Beas (B) Chenab (C) Yamuna (D) None of these
‘FE7 TorEehl g A B 7
(A) =8 (B) T (C) Fg (D) &H g &
‘Kais’ wild-life sanctuary is located in which district of H.P. ?
(A) Chamba @) Kinnaur (C) Kullu (D) Mandi
% fopm Torer o “apre@’ g=siia S7eIRuy 31aferd g 2

(A) == (B) fer=iit (C) P (D) wel
The State Bird of H.P. is
(A) Monal (B) Parrot
(C) Western Tragopan (D) None of these

T 1 T Tt B
(A) WA (B) drar (C) ufeadtgmus (D) 378 A IS &
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146. ‘Thirot’ hydroelectric project is constructed on which river ?

(A) Chenab (B) Satlyj C) Beas (D) Ravi

Rrtte’ o1 -ferge wfeiom fope 7 w il & 7

UNREEIC! (B) &S (C) =™ (D) e
147. The longest National Highway of H.P. is

Temmeret Tew1 o1 TeE e TP T 8

(A) NH-103 (B) NH-105 (C) NH-3 (D) NH-5
148. Bahadurpur Fort is located in which district of H.P. ?

(A) Solan @) Sirmaur (C) Una (D) Bilaspur

TRt TG o fopd FoTel H SETGUYX fehetT STafevm & 2

(A) HieH (B) THwR (C) = (D) forcmER
149. Hari Rai Temple is located in which district of H.P. ?

(A) Mandi (B) Kangra (C) Kullu (D) Chamba

tewrereT wewr % feper foret & gfirs wifer safea 3 2

(A) = (B) TSI (©) e (D) =1

150. Dandaras dance is performed by which tribes of H.P ?
(A) Kinnaura  (B) Lahaula (C) Pangwal (D) Gaddi
! Tohe ST GRT SUSRHE & Tohall ST & 2

(A) =it (B) <gen (C) wrad (D) T

151. The themes of the Gompa paintings are derived from the love poems composed by

(A) Jayadeva (B) Keshava Das
(C) Both (A) and (B) (D) None of these
Terereh gIT Tt TS U ShicraTal & T fermrehet <hi Sehl 1 IgHA 53T & ?
(A) e | (B) HeEgH
(C) (A)TT (B) TH (D) TH & =i T
152. ‘Losar’ is a festival of which religious community in H.P. ?
(A) Hindu (B) Muslim  (C) Jain (D) Buddhist
TedTret Yest <1 i o1 Hfties TR TE gR HATdT § ?
(4) feg (B) gEemM  (C) M (D) 5

153. Nahauli Fair is celebrated in which district of H.P. ?
A) Mandi %g)é Bilaspur (C) Hamirpur (D) Kinnaur
f%maau%srés%m T gt TedT I STl & 2

(A) wEl (B) fsemaq  (C) &w (D) freiR
154. Himachal Pradesh Lokayukta Act was passed in which year ?
ferTaIe ¥ AehTgh STTaf-am ford o qTitd g3t 2

(A) 1978 (B) 1981 (C) 1983 (D) 1985
155. Population density of H.P. as per Census-2011 is

SFITOHT-2011 % 3TIER fEATeet J91 3l STHEE 99 &

(A) 103 (B) 109 (C) 123 (D) 136
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156.

157.

158.
159.

160.

161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

The Indian Institute of Technology in H.P. is located at
(A) Shimla (B) Mandi (C) Dharamshala (D) Hamirpur

femmeret Jew 0 11T el W e 8 2
(A) Rmend (B) TSI H (C) gmend (D) gHRGH

Directions (Q. 157 to 159) : Choose the correctly spelt word out of the four
given alternatives A, B, C and D.

(A) commissioner (B) comissioner
(C) comisioner (D) comitioner
(A) ocasion (B) occesion (C) occasion (D) occagen
(A) utalize (B) utilize (C) utillise (D) utilaize

Directions (Q. 160 to 162) : Choose the most appropriate word out of the
four given alternatives A, B, C and D to fill in the blank.

Send in 1s waiting.

(A) whoever (B) whomever (C) that (D) which
You should cooked the stew much longer; it’s still quite tough.
(A) of (B) have (C) be (D) no word needed
His fancy art treasure may prove too expensive.

(A) into (B) through (C) with (D) for
Antonym of the word ‘Amateur’ is

(A) actor (B) professional (C) professor (D) artist
Meaning of the idiom ‘To make meal of” is

(A) to cook (B) to consume

(C) to enjoy sumptuous food (D) to have early lunch

‘T’ T ITH I ST &

(A) It (B) <3EdA (C) THR (D) T@d
STH ShiF T ITeg T 31 a1 f=1 3 7

(A) wifhed (B) e (C) == (D) wRgse
T R g &

(A) T (B) T (C) Traum (D) isft
“Rorg S 1 ey ot 31 Wil 9 &) % fore ek e B

(A) Il (B) T (C) g (D) 3

HET + 3 =

(A) W& (B) HiEw (C) wew (D) #ew
& IE §

(A) I=o™ (B) 3% (C) Ieoam™ (D) IsaH
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